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••  SSeenntteennccee  CCoommpplleettiioonn  22  Level 1 

 

DDiirreeccttiioonnss:: Complete the sentence using the word or set of words for each blank that best fits the 

meaning of the sentence as a whole.
 
 

1. Twenty-two is a ______. 
 
A. food 
B. number 
C. color 
D. car 

 
2. Baseball is a ______. 

 
A. country  
B. city 
C. sport 
D. vegetable 

 
3. Italy is a ______. 

 
A. country 
B. sport 
C. city 
D. color 

 
4. Green is a ______. 

 
A. fruit 
B. language 
C. number 
D. color 

 
5. A banana is a ______. 

 
A. man 
B. fruit 
C. number 
D. language 

 

 

 

 

 

6. Spanish is a ______. 
 
A. country 
B. number 
C. woman 
D. language 

 
7. A lion is ______.  

 
A. a city 
B. an animal 
C. a vegetable 
D. a child  

 
8. Paris is a ______. 

 
A. food 
B. language 
C. number 
D. city 

 
9. Gold is a ______. 

 
A. metal 
B. number 
C. language 
D. country 

 
10. Mrs. Lily is a ______. 

 
A. street 
B. child 
C. language 
D. woman 
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Answers and Explanations 

 
 
1) B 
Twenty-two is a number. Choice (B) is correct. 
 
(A) is incorrect because twenty-two is not a food. 
 
(C) is incorrect because twenty-two is not a color.  
 
(D) is incorrect because twenty-two is not a car. 

  
2) C 
Baseball is a sport. Choice (C) is correct. 
 
(A) is incorrect because baseball is not a country.  
 
(B) is incorrect because baseball is not a city. 
 
(D) is incorrect because baseball is not a vegetable. 

 
3) A 
Italy is a country. Choice (A) is correct. 
 
(B) is incorrect because Italy is not a sport.  
 
(C) is incorrect because Italy is not a city.  
 
(D) is incorrect because Italy is not a color. 

 
4) D 
Green is a color. Choice (D) is correct. 
 
(A) is incorrect because green is not a fruit.  
 
(B) is incorrect because green is not a language.  
 
(C) is incorrect because green is not a number. 

 
5) B 
A banana is a fruit. Choice (B) is correct. 
 
(A) is incorrect because a banana is not a man.  
 
(C) is incorrect because a banana is not a number. 
 
(D) is incorrect because a banana is not a language. 

6) D 
Spanish is a language. Choice (D) is correct. 
 
(A) is incorrect because Spanish is not a country. 
 
(B) is incorrect because Spanish is not a number.  
 
(C) is incorrect because Spanish is not a woman. 

 
7) B 
A lion is an animal. Choice (B) is correct. 
 
(A) is incorrect because a lion is not a city.  
 
(C) is incorrect because a lion is not vegetable. 
 
(D) is incorrect because a lion is not a child. 

 
8) D 
Paris is a city. Choice (D) is correct. 
 
(A) is incorrect because Paris is not a food. 
 
(B) is incorrect because Paris is not a language.  
 
(C) is incorrect because Paris is not a number. 

 
9) A 
Gold is a metal. Choice (A) is correct. 
 
(B) is incorrect because gold is not a number.  
 
(C) is incorrect because gold is not a language. 
 
(D) is incorrect because gold is not a country. 

 
10) D 
Mrs. Lily is a woman. Choice (D) is correct. 
 
(A) is incorrect because Mrs. Lily is not a street.  
 
(B) is incorrect because Mrs. Lily is not a child.  
 
(C) is incorrect because Mrs. Lily is not a language. 

 
 
 
 

 
 
 


